i!l READTHEORY

» Analogies 1 teveito

Directions: Choose the pair of words that
best express a relationship similar to that
of the original pair. Then write the bridge
sentence(s) to the right.

A finger is part of a hand. ;
A leaf is part of a tree. -'V/

Bridge Type: Characteristic

Name

Date

Lrampte.:

Bridge Type: Lack

#) UNDERQUALIFIED : CREDENTIALS

A) tentative : doubt
B) tenacious : determination

@Iackluster : enthusiasm

D) epicurean : appreciation

1) ANARCHIST : GOVERNMENT

A) activist : diversity

B) feminist: men

C) politician : order

D) abolitionist : slavery

E) teetotaler: prohibition

Bridge Type: Function

2) PROPAGANDA : OPINION

A) sermon : morality

B) commercial : economy
C) battle : violence

D) diatribe : negativity

E) eulogy : death

Bridge Type: Type/Kind

3) COUCH : FURNITURE

A) bookcase : encyclopedia
B) knife : cutlery

C) bed: canopy

D) cinema: rental

E) protestor : villain

Bridge Sentence:

A characteristic of an anarchist is to
oppose government.

A characteristic of a is to
oppose

Bridge Sentence:

The function of propaganda is to influence
others’ opinion.

The function of a
others’

is to influence

Bridge Sentence:

A couch is a type of furniture.

A is a type of



Bridge Type: Definition (Antonyms)

4) SURREPTITIOUS : OBVIOUS

A) scholarly : professional
B) harmonious : musical
C) pacifying : enraging

D) sponsored : bribed

E) artistic : masterful

Bridge Type: Part to Whole

5) FINALE : MUSICAL

A) inning : baseball
B) stitch : tapestry

C) mystery : novel

D) barista : coffee

E) homestretch : race

Bridge Type: Other

6) LISTEN : EAVESDROP

A) grin :smile

B) donate : relinquish
C) assume : conclude
D) prognosticate : guess
E) move : sneak

Bridge Type: Lack

7) GLUTTON : MODERATION

A) braggart : humility

B) professor : knowledge
C) sage :wisdom

D) lawyer : prudence

E) caretaker : affection

Bridge Type: Function

8) WINERY : MERLOT

A) supermarket : espresso
B) marathon : water

C) café : whiskey

D) brewery : beer

E) grove : applesauce

Bridge Sentence:
Surreptitious is the opposite of obvious.

is the opposite of

Bridge Sentence:
The finale is the final part of a musical.

The is the final part of a

Bridge Sentence:
To listen stealthily is to eavesdrop.

To stealthily is to

Bridge Sentence:

Someone who is a glutton lacks moderation.

Someone who is a lacks

Bridge Sentence:

The function of a winery is to produce merlot.




Answers and Explanations

1) D
A characteristic of an anarchist is to oppose government. A characteristic of an abolitionist is to oppose slavery. Therefore (D) is
correct.

2) A

Propaganda is the spread of information intended to influence opinions, beliefs, or conduct. Thus, the function of propaganda is to
influence others’ opinion. A sermon is a religious speech, usually delivered by a member of the clergy. Thus, the function of a
sermon is to influence others’ morality. Therefore (A) is correct.

3) B
A couch is a type of furniture. A knife is a type of cutlery. Therefore (B) is correct.

4 C
Surreptitious means sneaky or stealthy. Thus, surreptitious is the opposite of obvious. Pacifying means soothing or relaxing.
Enraging means stirring to anger or rage. Thus, pacifying is the opposite of enraging. Therefore (C) is correct.

5 E
The finale is the final part of a musical. The homestretch is the final part of a race. Therefore (E) is correct.

6) E
To listen stealthily is to eavesdrop. To move stealthily is to sneak. Therefore (E) is correct.

7 A

A glutton is a person who eats greedily or voraciously. Moderation is the quality of prudently avoiding extremes. Thus, someone who
is a glutton lacks moderation. A braggart is someone who brags. Humility is the quality of being humble or modest. Thus, someone
who is a braggart lacks humility. Therefore (A) is correct.

8 D
A winery is a place that produces wine. Merlot is a type of wine. Thus, the function of a winery is to produce merlot. A brewery is a
place the produces liquors such as beer. Thus, the function of a brewery is to produce beer. Therefore (D) is correct.



